
SAP ABAP table RECP_NA_VAL_C {Assessed Value}

RECP_NA_VAL_C

CURRENCY [CUKY (5)]

MEASUNIT [UNIT (3)]

NAPRTYPE [CHAR (4)]

NASTMNTTYPE [CHAR (4)]

NAOWNREL [CHAR (4)]

NAPRTYPEAR [CHAR (4)]

ZONEMEASUNIT1 [UNIT (3)]

ZONEMEASUNIT2 [UNIT (3)]

ZONEMEASUNIT3 [UNIT (3)]

MEASUNIT1 [UNIT (3)]

MEASUNIT2 [UNIT (3)]

MEASUNIT3 [UNIT (3)]

MEASUNIT4 [UNIT (3)]

MEASUNIT5 [UNIT (3)]

TAXVAL12ND [CUKY (5)]

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 RECP_NA_VAL_C-MEASUNIT = T006-MSEHI 

0..N
1

 RECP_NA_VAL_C-MEASUNIT1 = T006-MSEHI 

0..N
1

 RECP_NA_VAL_C-MEASUNIT2 = T006-MSEHI 

0..N
1

 RECP_NA_VAL_C-MEASUNIT3 = T006-MSEHI 

0..N1  RECP_NA_VAL_C-MEASUNIT4 = T006-MSEHI 
0..N

1  RECP_NA_VAL_C-MEASUNIT5 = T006-MSEHI 0..N

1  RECP_NA_VAL_C-ZONEMEASUNIT1 = T006-MSEHI 

0..N

1  RECP_NA_VAL_C-ZONEMEASUNIT2 = T006-MSEHI 

0..N

1
 RECP_NA_VAL_C-ZONEMEASUNIT3 = T006-MSEHI 

0..N

1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 RECP_NA_VAL_C-CURRENCY = TCURC-WAERS 

0..N

1

 RECP_NA_VAL_C-TAXVAL12ND = TCURC-WAERS 0..N0..N

TIVLMNAOWNREL

MANDT [CLNT (3)]

NAOWNREL [CHAR (4)]

 RECP_NA_VAL_C-NAOWNREL = TIVLMNAOWNREL-NAOWNREL 

0..N

1

TIVLMNAPRTY

MANDT [CLNT (3)]

NAPRTYPE [CHAR (4)]

 RECP_NA_VAL_C-NAPRTYPE = TIVLMNAPRTY-NAPRTYPE 

0..N

1

TIVLMNAPRTYAR

MANDT [CLNT (3)]

NAPRTYPEAR [CHAR (4)]

 RECP_NA_VAL_C-NAPRTYPEAR = TIVLMNAPRTYAR-NAPRTYPEAR 

0..N

1

TIVLMNASTTY

MANDT [CLNT (3)]

NASTMNTTYPE [CHAR (4)]

 RECP_NA_VAL_C-NASTMNTTYPE = TIVLMNASTTY-NASTMNTTYPE 

0..N

1


